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https://k-nomoto1728.github.io/homepage/education/index.html
https://k-nomoto1728.github.io/homepage/pdf/meisei/2024_Wed1_geometry2/02/slide.pdf
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a—21)w RipR

E# (RAE p.101 £3%8.1)
R" DEBED 2 i x = (21,72, .-, Tn), Y = (Y1,Y2, - - -, Yn) IR LT

n

d@,y) = | > @—9) (=@ -9+ -+ @)

=1

Zx,yHoa—oUy REEREE WS,

Bl (R?)
z=(-1,2),y=3,-5)NFT22—2Vy FEBHIIRD LS ITHEINS:

d(z,y) = /(-1 =3)2 + (2 — (=5))2 = V16 + 49 = V/65.
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a—2)y FZERH
m 21—V FERE d(z,y) 1X, R* 2 &z, y 10f U TERRE L WS EEE X0 X 8 2 B
ELTHRAZENTES:
d:R"xR" = R, (z,y) — d(z,y)
ZOEHdEI—7)y FIERREE WS,
EE (HRE p.102 £ 8.3)
R" & 2—2 Vv N d Ol (R, d) Z n Kon2—2 Y v FZEFE L VW, E" TXRT.

E" = (R, d)

mOFED Tz, ycE DS ICEHEVLE 21X, 2 8z, y FOEREX
a1—2Vw REEBTAIS
LwnwsZel.
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A—2Y v FEREOEAR3IMEE

EIE (HEE p.103 FiE 8.5)
d:R"xR* s R%2—27 Vv FEEREKE 5. 2O XEED 3/, y,2 € E" IZX LT,
T D320 EDD L.

1. d(z,y) > 0. 52 d(z,y) =0 <= = =y.

2. d(x,y) = d(y, x).

3. d(z,z) < d(z,y) + d(y, z). (ZAFER)
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SR (n=2D L F)

D{‘Ffbi r = (SL‘l,:L'Q),y = (yl,yg),z = (Zl,ZQ) Zﬁk%i@ﬂ?éhflﬂé 95,
1. 2—2Yy NHBEOER LD
d(@,y) = V/(z1 - 91)? + (12 — y2)? >0 (1)

B 0. X BIZR (1) DEEAED OO 21 = g1 D s — gp DL FIRB. O
%D

dlz,y) =0 <= z =y.
2. FBD 2,y e RICHLT (z—y)?2=(y—2)2TH205
d(@,y) = V(@1 — 1) + (22 — 12)2 = /(1 — 21)% + (2 — 22)2 = d(y, x)

TH5.
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3. RLWVW=ATNER d(z, 2) <d(z,y) +d(y,2) ZHEZTTEUTDOLIITRS.
Vi —21)2 4 (22— 22)2 < V(e —91)2 + (22 = 92)2 + V(51 — 212 + (12 — 22)2(2)

AEMHEICT 272D, a5 =a —y;, b=y — 2 EBL. ZOLEx;—z,=a; +b; TH
20056, X)L To Lo cF=HZIoNS.

\/(a1+b1)2+(a2+b2)2§\/a%+a§+\/b§+b§ (3)

3 (3) OFIOMIT VTN IEATH B 05, WillE 2 L7 FORERET L.

2
(a1 4 b1)* + (a2 + b2)* < (\/a% +ad + \/b% - b§> (4)
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sEFA

K (4) BRT. () — (f530) 2T 5L
(Fild) — (53)

=(a} +a3) + 2\/(a§ +a3)(b3 + b3) + (b] + b3) — (a1 + b1)* — (a2 + b2)?

=(af +a3) + 2\/(a% +ad)(b? +b3) + (b 4+ b3) — (aF + 2a1by + b7) — (a3 + 2aby + b3)

=2 (\/(a% +a3) (b7 +b3) — (arby + a2b2)> (5)
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CC'.VC:\_‘F";, a = (al,ag),b: (bl,bg) B R T\/I/a,b@ii‘?‘ﬁﬂ%ﬁ Bl

V(@ + a3) (03 + 83) = |allb
> |al||b| cos 6
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= a1b; + asby
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Cauchy-Shwartz DARZER

m ClE Y DI TIEARER
(af +a3) (b5 +b3) > a1by + azby
L7z, 23U Cauchy-Shwartz DA EX DK LG ETH 5.

fi#8 (Cauchy-Shwartz DFF)

Ffar,...,an,b1,..., by ITHLT

(£ (5%) = (5e+)

i

1 2 pdf(?ﬁﬂﬂ)
m F#E58 7T X b TId Cauchy-Shwartz DAFAEFXIFFERAE LICAWVWTRWI LICLET.
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https://k-nomoto1728.github.io/homepage/pdf/meisei/2024_Wed1_geometry2/02/remark.pdf
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